CHEMISTRY UNIT REVIEW ANSWERS – P. 268 – 271
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40. Barium and strontium are in the same family, so the clements are likely to have similar propertics. Thus,
like strontium chloride, barium chloride is probably a white crystalline solid with a high melting point.

. (a) Ba+2 HCl — BaCl, + H,; single displacement
(b) 2 Al +3 S — ALS,; synthesis
©) Sr(NO,), + 2 NaOH — 2 NaNO, + Sr(OH),; double displacement
(d 3 Mg +2 H PO, — Mgy(PO,), + 3 H,; single displacement
(o) CaCO; —> CaO + CO,; decomposition
) 2 CyyH,, +31 O, — 20 CO, + 22 H,0; combustion
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42.

(a) Ba+2 HCl — BaCl, + H,; single displacement

(b) 2 Al+3 S — ALS,; synthesis

©) Sr(NO,), + 2 NaOH — 2 NaNO, + Sr(OH),; double displacement
(d 3 Mg +2 H,PO, — Mg,(PO,), + 3 Hy; single displacement

(o) CaCO; —> CaO + CO,; decomposition

) 2 CyyH,, +31 O, — 20 CO, + 22 H,0; combustion

(a) 2 Ba+ O, — 2 BaO; synthesis

(b) CsH, +8 O, — 5 CO, + 6 H,0; combustion

(e) Ba(NO,), + 2 KOH — Ba(OH), + 2 KNO,; double displacement
(d) 2 Al +3 ZnSO,; — AL(SO,), + 3 Zn; single displacement

(o) H,80, + S(OH), — SrSO, + 2 H,0; double displacement (acid-base neutralization)
0 2 NaCl — 2 Na + Cl,; decomposition
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19. An organic compound is a molecular compound that has carbon atoms as its basis.

20. According to the Law of Conservation of Mass, the total mass of the products of a chemical reaction
cquals the total mass of the reactants.

21, In order for a reaction to occur, colliding reactant molecules must have a certain minimum amount of
energy. To give reactant molecules enough energy, you can increase the amount of reactant, increase the
surface area of the reactants, increase temperature, and/or add catalysts.

22.A 23. A

Use What You've Learned—Suggested Answers
24.D
25. (a) carbon-14

(b} Acoms of different clements can have different numbers of neutrons in their nuclei. The number of
neutrons in a nucleus does not affect the identity of an atom or the atom's chemical propertics.

) /;\
26. (a) nitrogen-15 (b) uranium-240 (¢) polonium-126

27. An fon cannot exist on its own because to form an ion, an atom must gain clectrons from or donate
electrons to another atom.
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33.
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() ionic; Be(NO;),

(b) ionic; (NH,),CO;

(¢) ionic; PbF,

(d) ionic; Al,Se;

(e) molecular; CCI

(a) ionic; rubidium chloride

(b) ionic; ammonium phosphide

(e) moleculars trinitrogen hexabromide
(d) ionic; titanium(I1I) oxide

(e) ionic; strontium(II) phosphate

(d) ii; B

(e) iii; B
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34. (a) ionic; potassium chloride
b} fonic; Ca(NO),
(¢) molecular; dinitrogen tetroxide
(d) ionic; PbS,
(e) fonic; barium perchlorate

35. 1 would expect an ionic solution to conduct electricity. I would not expect a molecular solution to
conduct clectricity.

36. (a) hydrochloric acid
(b) HCIO,
(e) sulfuric acid
(@ HCIO,

(e) nitrous acid

37. (a) {'g] :T—

38. (a) 3 b) % e [





